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print("Hello, world!")
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Python variable. My \ —
name is X and | can point | My na_nm\
| toan arbitrary object. | : Yand | reference the \
\ In this case to an \ same object as the /
I X
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‘Model Essay Questions ! _ég)g;b@ véﬁ)@a Q@@ - _ll

Lo () 23, 2 B £3cued, 2 BBcws (positive integer) owd mes Adge (negative integer) ¢z 865
mwien) emed 8 Bedng mdwin.

(ii) po= (i) emloed 2eifs pOs g =0, § xf HJced, 0o ¢ waG ¢ v Ssome A3 tews O
efeodnden Haeems O 088 sdum (flow chart} eci® muxmiz,

(i1} gww (il) emdessd suidn 03O udmvn D% ened (pseudo code) wod=9m.

iv) gom o1¢eodndu Huibd mp:dd vew: ey vins? nBedawx (Python program) smed =d (=0,

2. (1) 28,2 m8 A3ced, ‘0m BBcexd’ (positive integer) owd ‘s RABean’ (negative integer; ous ‘aow gzn
’ 8@’ (zero) wxim Scemw mdslent emed 3 Beins noztm.

i} gus (i) omdond ewifn HPs v 3, & oS Adcax, ‘0 Adces’, ‘e Hlrunl’, ‘zo¢ ems 38°
zim Hdme BIL wew Un nfemdndex Bahsme £ mED wovms (flow chart) emb noslm.
Pl gon (i) emntend owifs o188 sDum Oy exdned (pseudo code) vl

PV gum sPeo3n9e Buwibd mde wew geg v@n HOeddeaf (Python program) emed ™3 ¢xiSuizm,

3 (@) & B omen8 qeds slns pPedded yfonw now ¢? data = [10, 20, 42, 80]

i for no in data:

i (0 pon 0mped8 wewr wBor pPedded bregk wm gmeme print (no, end=" )
’ odnBY continue wz FIAMW BwWsed soduBn uBoEe o=l 2? if no > 30:
i break

print (no, end=' ')

(¢) dBDE 2w o@D s0mekend srmd O
@m0t g o eeds s muBsl oy B
&% and, gn qm:adzﬁ 0?88 vimmed & quy

adie D:lm gdo oy B8 08 88 28w g Bags i : T
Sz Dlm 3dm o0l End w = < Pass mc;d:cai - _
. 088 eBmas ochsy @ 0O O qeg®ma Dy \\tﬁy
ahmed DDAD wemn® AR, nohn wwd 9 R0S8 ,L @
8815 968390 gomevins Sxtma gbex! DO
N=0
BEam Y oo CAS. @08 BILwO et Giaed newsy

-

> 3® wowend (flowchart) (D), @, @, ®, ) v

Mo
® ax dor wew @ty =¢ enBEedEx fuw Continue to Mo
Rty %&t question?

(d) oo 088 wowm e »:dm ™I MB mo®

Eliminated from the
{i 0 oture, fal = i
Oyt {Control Structures) ;@ mdxis. N @*‘ interview

W

Yes

N<@®?
®

Passes preiliminary stage —'C-éND )




Modei Essay Questions / peb® oBem ge®

() Opvom HOeID wwdm (structured computer language) 8= £ g MEY men Ly (Flow control
structures) s ¢x5owm,

() cBowmnnoeEded § mbm niy canm PEEA v 8305mm Bagmo-0 (Computer programming language
translatcr software) 50 @@:m8s ¢? €80 BB w5188 morim.

(©) vwm wgost o838 sem Oyw mbnewst Z-score ¢4 amb, Bdobong godbuud codmmndz? enils vews
wmE m®m G4 20 Bg B vowmd (flow chart) Qo€ D8 exdma (pseudo code) Buwaiz,

START

/ Input No of candidates as C 7

X=0,8=0

Y

Is No ) T 7
X<C? [ Display S, “no. of students sre qualified.” /

YeS ‘y
/ Input the Z-score as ZS 7 END
v
X=X+1
No
Display “Not qualified.” /
Yes

| Display “Qualified.” |

(@) pon ademBnes Hudd mDe nem g £8ox FOedses {Python program) wmed ®6 emiDzim,

soOn SMeDS tewst 83nx oo,

1 x=28
o88cm (user) B8x aem caAm Bwe 2 total = @
@800 (n) epce Dwwsemide CcRE | 3 o . int(input("Enter no. of Subject:)
anes o gloma (output) ece 80 4 ifn <= 8:
CRE @BmD ov wS>d CWE C® | 5 print "Invalid no. of subject!®
24 oce BEBrcie ™S . «38cm 6 else:
5823 0 owd 30 af vamO oce n B | 5 while x >= n
q0w B g2 B0 noddue Pl g ». | g marks = int(input("Enter subject marks:)
o0ecdBou8 & 88 (syntax errors), | g total = total + marks
maSRmw e¢dw (logical errors) mw Mdmad 10 X m= x + 1
& 98 o» ogde (runtime errors) wm | 19 avg = total/x
ondlos ® an. 0d€ gom, pOocBeed | 3 print "Total Mark is ¥%d" %total
omdnm PxwOm gnd qne ow@d | 13 Print "Average Mark is ¥%.2f" Xavg
08,

(a) pon Bews! e ede 28m L€ O 13, 1 domS ®de ¢ ORI,

(b) gedmin gB2cw ca MBS vew, weTe o e¢de BOGT w3 PP TDD Buzls. (5®s¢au0 gpds?
3§ omn BOO owd 9O B39O B0 2bws mw.)

- S———



Mode! Essay Questions / gb® ¢ba: gdo

6. (a) “Interpreter” sw “Compiler” wm o¢ wwezio,

(b) vef v6®sGed sBoemm wuDED (first generation programming languages) toodmd andm as®udhed
sBoesm woesOe (third generation programming languages) ¢39O medz 88 geSrmm® sg0sd mouts.

(¢) wwo» gufebz process_data.py 8 oS o8mz? B®eddc (python program) semsts:

def readdata():
datafile = open("marks.txt", "w")
name = input(“"Enter name : ")
ml = input(“"Marks for Subject 1 : ")
m2 = input("Marks For'Subject 2 ")
m3 = input(“Marks for Subject 3 : ")

data = name _.- ", 1] + ml + Ol’ " + mz + l., ”n + m3 + u\nn
datafile.write{data)
datafile.close()

def writedata():

datafile = open("marks.txt", "r")

record = datafile.readline()

tot =0

avg=6.08

while record i= ' ':
info = record.strip(”"\n").split(",")
tot = int(info[1]) + int(info[2]) + int(info[3])
avg = float(tot / 3) '
print(infole@], info[1], info[2], info[3], tot, avg)
record = datafile.readline()

datafile.close()

readdata()

writedata()

& = ens (eed smed md aR Sm) dxd woved monde

J Va maeesl aw e S0

v
(1) gom pdedadesd methods (mEobs B80) daf sevsy mSzim.

til)  gon pPedadewsd user defined functions (388a» B&=f afo ¢80 18 §n) 238 sewzt moste.

1V} 29> HPeddecs wdm nd ol 0@ (variables) 4= £Ss0d ¢nfm yhow (data types) e®w esgmasy
DIEIH.

(V) ooz npPeddcnd ¢dn wath O eomed 5»® Sezin. (name of file where data are stored)
(Vi) ouvd gEedn gEHOCD an® medn yhome Genls.

Enter name : Sajith

Marks for Subject 1 : 4@

Marks for Subject 2 : 35

Marks for Subject 3 : 75

o



Model Essay Questions / 3¢ B® O0O®) g@® - i

penmen edOndsied (n = numbér of employers) :® (empname = emplover’s name) sw 58 BE B CLED
(wh = working hours) Bas, 28 6xf eddmwed a¢e *Onm (pay) wmtd w0, ebnm wewn D § yhisime
(np = net payment) owmma =6 s-dame (display) Bled sFdemSn®a (algorithm), svse ;8@ wdwxn

{flowchart) ®6x3 Rqpeas emed,

(8) govn & B 88w 2ewm vun gEedn 88 sOwend nliwwd eqe Emd emdne (pscudo code) Swade.

[ ax88 0Ocens edst gt
sxc® oem Bong %O

~

Input No. of emplioyers as n
P ODEs oG B FO8 S
moe'm :

Input name of the employer as
empname
efOwwned £H® empname @
Q2¢a2368 BDOETD.
Input the working hours as wh
O e 5708 REED Wh Do
&9¢223c8 WD,
h = ofemd &0 Bom 21 VG
(40 hours)
r = 58 0 s eobm i
(rate)
Print - Gogiw Y.

h 4
/ Input No. of employers as n, (n > 0) /

¥

h=40,r=250,p=0,np=0,i=0

Print n, np

Input employer’s name as empname
Input the working hours as wh

p=hxr

Yes

No
pay=p+(wh-h) xr x1.5 J

4

1=i+1 np = np + pay
7'y — ]
L o 7
7 Print empname, wh, pay ¢
(b) swm emDEDH aews? 8B PPedded yBeuma (output) Buvxslm,
colors={'Red’, 'Grean', ‘Blue']
colors.sort()
for color 1n colors:
print (color, len(color))
(c) von ompodd wmqws? Opod 5 8 Qe HQD | pef times(a)
(multiplication tabie of 5) s-«¢Same (print) HE® For 1 In Range(1,13):
sew Sum ot 8o 5Pedded §ned (function). Print (a,' x ', 1,' = ', a x i)
o oude ofin Dsf 6w A0 GE ¢ ¢wdTm. Times(S)

(a) v wewz? 3O B Opv Mmbnews! cud evg ewvBe Hew swmews? “ICT” Buw endd o A® onbd,
8308 godawd gedmniy oSS wewe nmwed MmSm ¢ v g S B A-0; 38 8dwmd (flow

chart - A) gog D205 eme (pseudo code) Buzdm.
(b) A-:38 xowaemns’ AaBs g @eminte H®m A8 vew 8oz pordes! Bvstm.

(c) vwm qodm B-m3® sdwens? (flow chart - B) qedrien? cmem 8p77 madon®m Onf 2 Dl
mEOED 0Oy BIS acw omed ferlnLensd (1), (2), (3), (4) ov (5) am» eddcOCD a0e 8 my!

#oORm.

4




Model Essay Questions / peb® 6o gao

f Input No of candidates as C ]

[ x=o,s=0J End

Display S, “Number. of
students are qualified for
Engineering I & II.”

/ Input the third subject as Sub /

Display “You can’t apply -
for Engineering | & I.” Comit =0
No | [ Input No of Student as N /[
Display “You can apply “
for Engineering I & 11" .
: Input Student's Name as SName /
and date of birth as DOB /
A

Age = 2014.01.01 - DOB

Register ...(1)... Under 13 Is Age<13?

Register SName ...(2)...

SName Under 17

LNeaLLn st

'y
Rﬁgm..m

Register SName Under 19

‘.l

Count = ...{4)... + 1

r Display "Registration was ﬁnished!"J




Model Essay Questions / PO SO mde

9. (8) cowiek «O6 swg 9008 1 Pve 8806k O wom end obme tee.

Compare and contrast the low level and high level programming languages using examples.

(b) source program ew object program cwz ©¢ Bedns montm,

Describe term of source program and object program.

() swm gutedn vins HOeEALLs BRe® KB B¢ w91 shwemn 3COm B8 ¢Sames mo3,

@
(e)

The following python program is dispiay all prime numbers in the particular range of integers.

cC e @
n = int(input{“Enter the upper bound: "Y)
for m in range(2, n + 1):
for x in range(2, m):
if (m %X x == 8):
break
else:
# loop fell through without finding a factor
cC=c+1

print("%d. ¥d is prime number,® %{¢c

Y
S myy

-\
n;
print("There are Xd prime numbers between 2 and Xd." %(c, n))

28 peecided v:bm WS ;B swn vews? & Ci8¢non moxen, / List the followings used in this program.
(i) B®@xn/ Variables

(i) oud mmed g §o / Built-in Functions

(iif} 288 / Operators

{v) B 84 /o0 mam @ 8¢ / Keywords / Reserved Words

(v) 80ce / Comments

N sew 9 poms mozies! w8, medn §8¢ze Bz, / Write the output when input 9 for n.

0D gufedm yBeme O MIMded { o pOedaed a8 BOSE S On Buztm,

Correct the errors in the pyvthon code given below and rewrite the code with suitable indent to produce following
output.

Output
2421 =2
Def Power(no) 222e4
print("Output"”) 273 =8
For exp in (1,19) 2°4e16
Print no, '~', exp, '=', no * exp 2725 =32
power(2) | 276=64
247 =128
248 = 256
2~ 9 =512
2~ 10 = 1024

(S




Model Essay Questions / pgb® o6& pée

0. (a) Draw a flow chart, write a pseudo code and the Python code 1o read the name and index number of a student in

(2]
-

12.

a school and find the relevant house according to the following criteria and to print the index number, name and
the house that he/she belongs.

coem Benwened apet So® gome 8 MO Home WS D/g gunl O Bdwses son sEedm gmcwd
e, Buswood ;e Do® gams, 2O aw guf O Rdss Bewe BI9D o HiomBnda 6w pasn
™R3 wdums s 30 anGs Oxd exlne v s3m ene S,

If the remainder of index number divide by 4 equais to
3, house is “Gemunu ", ' 2, house is “"Wijaya”,
1, house is “Pearakum”, ' Otherwise, house is “Gajaba”,
(b} Develop the sbove algorithm to find the houses of all the students in the school using WHILE loop.
o nceon®e WHILE loop mbnews meed Bap ® Badod Athe 0ab® agie amesis.

(c) Develop the above algorithm to find the houses of all the students in the school using FOR-NEXT loop.
pun peodn@e FOR-NEXT loop mbnews? smued 8o © Buried b b wgw amexim,

. {2) Drawa flow chart, write 3 pseudo code and the Python code to read the series of number and find the maximum

o

number and the minimum number.
wodnmn e@vurt Bud: 68 0@ SED® M RV WB-AWD et Poww BIGY ape qTemBodn wews
g o130 sdumn g 3O NG O exdmw v s8nz enine Suxin.
(b) Develop the above algorithm to find the houses of all the students in the school using WHILE loop.
o peeSn®s WHILE loop wbners? mued 8aeg & Byrled A 0ol vem emesin.

{c) Develop the above algorithm 1o find the houses of all the students in the school using FOR-NEXT locp.

o -

on qembnde FOR-NEXT ioop wmdmewsy msed Bug © Sgried Hite ead® uqw emezis.

290 ploconed =86 dmmIS ¢Some (BMI - Body Mass Index) a@me m6 gpe B8ns geemo B3O wewe
vBmx! HOedsus BEe me @ O B Burtn. pdocered ¢ Beeldadofs? (Kg) ¢ ¢o owrid
$2508=t (cm) ¢ 2 o CAD end €0 mtbm eoen! (real values) 08, 88 BB vwom eozi: & il 88md&wd
amd 8gmved BMI qoo otame e g @

You have to writs a Python program to record the BMI and relevant details (Body Mass Index) obtained by a persen.

Weight in kilograms and height in centimeters of the person should be measured which are real numbers. You should
calculate the BMI as the following formula.

BMI = Weight / (Height)? ‘Where Height should be represented in meters.

son qledn emied8000 b, Bsswed BMI qowd epdis © @y/qie E8x 5ardd 8008:=Y vdD: on g
DS shew quledn Dms S me g3 od.

The BMI value and the sentences indicating the optimum range of weight to be maintained of the student should be
printed according to the following criteria.
If BMI 2 30,

You are abese!!!

" Ta obiain 2 normal body weight, vou must lose between </oirae fimit> and <upper limit> Kgs.

7

A,



13.

) Mode! Essay Questions / pgb® oBem gee .
1£28.0 > BMI 2 29.9,

You are overweight!!
To obtain a normal body weight, you must lose between <lower limit> and <upper limit> Kgs.
If 18.5 = BMI > 24.9,
You have a normal body weight. Great job!
Otherwise,
You are underweight!
To obtain a normal body weight, you must gain between <lower limit> and <upper limit> Kgs.
(i) @30 wOvms wdnews’ 089 DOeCow new yexlndon el mozim,
Propose an algorithm by using a flowchart for the program.
(ii) o ewdem me @8Q wdum gpae Oxd et Sosim.
Write the relevant pseudo code for above proposed fiow chart in part {.
(iii) Baed exd8n MBS wdwm owd O exind BuodOm B3E uqw o8n! ploddes Serim.
Write a Python program to implement your proposed flowchart or pseudo code.
extBen Bgried 8¢ Lozld (Seme (BMI ~ Body Mass Index) me#mme 6 D8mo B89 wewm u8msd
woodour Bum ecs Pacd gEnS/nde B8 Sacen 989w = Bed = 8gedned & ac
Bocida®ds! (Kg) ¢ oo oustd B050EsT (cm) ¢ Oz oy cA g0 €0 mIdn o (real values) . e @

Byedn © gmmn @b gomadd (index number) 827 wgzw oxlow gmd @b gome ABce o’ (integer values)
ob. 08 BEz? vum ouztD: & o e®mceaed 4b Busied BMI goc omnw we gn «

Your teacher has requested you to write a Python program to record the BMI (Body Mass Index) obtained by students
in the class. Weight in kilograms and height in centimeters of the students should be measured which are real
numbers. Each student identified by a unique index number which is integer. You shouid calculate the BMI as the
following formula.

BMI = Weight / (HeightP Whare Height should be represented in meters.
swon qBedn emusiolB80CD amb, onf onf Benwwod mmes Bo® goma, 86 (Kg), ¢o (cm), BMI aoe e o8
2ocd Mphs ven 0D 2da 2088208 ‘bmi. txt’ :& S tod emped Dalimo e @ @D

You should record index number, weight (Kg), height (cm), BMI value and relevant text of the students according
to the foliowing criteri in a text file respectively.

BMI 2 30 £ 5O, mdans; 88 gl 30, Obese!!!, when BMI 2 30

25.0 2 BMI 2 29.9 % 80, a8x3 &8 8o, Overweight!!, when 5.0 > BMI 2 25.9
18.5 = BMI 2 24.9 6 89, eo@oovs @86 8823 gedm 8008,  Normalweight, when 18.5 2 BMI 2 24.9
oo ar0od MO, gf) BT guin 0 Otherwise, Underweight!

D6mO om qBnds 87 vk poGd REY! Bpsled @b cg;m, ac uw co qned »e gn 00, 3f e O
H8cwa (non-positive integer) ovndm oco emes ©¢ 52 gPodde mdde gy ob.
Index numbers, weight and height of the students should be entered through the keyboard, one item at a time and the
program should be terminated when a non-positive integer is entered as the index number.
i) 38 sovms mbnews 299 PLRTSY wewn aCe0Bnden el miwH.
Propose an algorithm by using a flowchart for the program.
(ii) oo eweddzn we M3 OV yphe Oxe otme Saztm,
Whrite the relevant pseudo code for above proposed flow chart in part (i).
(iii) 2a0c MBS 2OvM swd O oxlnw Huuwd® #R30 sew sdns! pOocaws Susim.
Write a Python program to implement your flowchart or pseudo code.
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